Foundations 20 – Midterm Review Answer Key
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that is, “proving” something that you began by assuming, 1 c w  FW:ch 1-3 review answers
5. C Lacey Ingenthron oiv
Chapter 1 Test, page 35 9. C. w
1. B 2 c 3 A 4. B 12. Za=15,
5. B. 6. C. 7. A 8. B 1B, Le=45%20 [0 ansenewanmerss.. |
9. 2768 b) 500 o 224 Ld=70°, [T
10. a) 1 b) 5 6 d 2 14. a) 2880° Downlosd Save to OneDrve - Personal
1. a) disagree; eg, 5+ 15 =20 b) disagree eg, 10+ 15 =125 15.
12. g, I x represents any whole number, then the left side of the equation From:lceyngentron @b, sk.ca [nstoacey.Ingentronbe. skl
consists of any seven consecutive numbers. The sum of these numbers Lre swomemism
is equal to seven times the number plus 21. Each term of the right side, Subject ch 13 revien arsvers
7x + 21, is divisible by 7. This equation proves that the sum of any L
seven consecutive numbers is divisible by 7. Example: 6 + 7 + 8 + 9 +
10+ 11+ 12=63,and 63 + 7 =9. aptisgs
13. e, disagree; Television shows are not always realistic. At the scene of a 16 )
real-life crime, there might not be enough evidence to prove a person’s g LR
guil.
14, eg, Kangaroos have pouches; deductive reasoning LSRT+ L}
15. e, Each term is 9 more than the previous term, so the next two terms
are 50 and 59; inductive reasoning
Therefore, Pt
17. 23 v
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"By 20 can be an example of a(h) r10r 1 1E250NIN A
ssumprion of generlization can lead to ixculac reasoning; Chapter 2 Test, page 55
proving’” something that you began by assuming. s .o . . Lecey Ingenthran o
, 5 C 6. A 7. D. 8 B
est, page 35 9. C 10. C 1. B
12 La=115%Lb= 30, Lo= 35, Ld= 35"
. G X 4 B 3
&0 2 & 1. Le=45,26=55 o= 107
6 C 7. A &5 . ¢ g ] S reviewanswersp..
b) 500 ) 224 Ld=70, Le= 110, £f=25 fan e
) 4.0 2850° B 16° o) 40°
)s 96 A2 . Ly a ) Dourioas Save t OneDrve - Psorsl
515220 b) disgreseg.10+ 15 =25 ¥ g = 30" conesponding nterio angls
presents any whole number, then the let side of the cquation £4=65"  coresponding inccrior angles
any scven consccutive numbers. The sum of these numbers £r+30° = 180°  interior angles
scven times the number plus 21. Each term of the right side, Zr=15 Frome:lacey.Ingenthron @rbe.sk.ca [maitoracey.Ingentrvon Grbe.sk.ca]
s divisible by 7. This cquation proves that the sum of any 45+ L£= 180" interior angles ‘Sent: October-20-16 3:50 AM
ccutive numbers s divisible by 7. Example: 6 + 7 + 8 + 9 + =S TosLacey Ingenthron
- (263, 63 + 79 Lp+ £g+ 65" = 180° Interior angles sum o 180°. Subject: ch 1-3review ansriers
: Lp=385
cc; Television shows are not ahways realisic. A the scene of a »
ight not be enough evidence to prove a person's L LRST+ 110° = 180° supplementary angles
ime, there might not be enough evidence (o prove a p e
LSRT+ LRST+ 30° = 180° Incerior angles 180°
sr00s have pouches; deductive reasoniny gl sum to
e 5 e s e ko oo the s v s £SRT = 80"
59; inductive reasoning LQRT = 808 given
LQPT=£SRT  wansiive property
Therefore, PQ | S. Cortesponding angles are equal.
7.
18. AE given

property of sosceles riangle
given

AsA

corresponding sides

AACD is isosceles.
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. leen two angles and a ;_d_c_, ASA or AAS, to determine another side:

) ) a b
use the sine law in the form = = mm——
sin A sin B
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Chapter 3 Test, page 81 S —
1. D. 2. B. 3. C 4. A

Fromlacey.Ingenthvon @rbe. s.ca [maitoilacey.Ingenthron@rbe. sk.c2]

5. B. 6. D. 7. D. e o
8. ‘) 2=133m. b) w=352cm. c) 4D =51° ‘Subject: ch 1-3 review answers.
9. 34km 10. 67° 11. 1429 m. 12. 968 km

13. =82 14. =3171 m, =2983 m

15. a) =153m b) =76°
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Fromlacey.Ingenthvon @rbe. s.ca [maitoilacey.Ingenthron@rbe. sk.c2]
Sent: October-20-16 9:50 AM

TosLacey Ingenthron

‘Subject: ch 1-3review ansiers

B =16m
1. a) Since £Pis acute and h < p < r, two triangles are possible.
b) £ Racute: = 1604 mm?; £R obruse: = 583 mm?
15. a) g, The support beam i too short to reach the ground with the main
beam at the given angle.
b) g, The support beam is long enough to reach the ground, buc
it could form cither an obruse or an acute triangle with the main
beam and the ground. This problem could be fixcd by stating which
direction the support beam must lean.





